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o M oe(d) gt
Cheh = daxte

1. A7\ "2 5,905,979,581
2. X2 HYXHE A (A=Aa+Abs+Acs) 134,453,723,221 2,004,511,499
e FX|XH7| X2 (Aa) 2,750,000,000 1,925,000,000
DATREEH QR (Ab) 126,177,217,918 25,384,326
e EA A _SHYULFERT| T 124,688,395,183 24,937,679
HEEX A 7| BB E AL | - -
SR XY A 1,488,822,735 446,647
DFAH2EEH QA (AC) 5,526,505,303 54,127,173
S8 A 5,526,505,303 54,127,173
sHelAX| el X|&2 - -
INE A I AHE XX 2 - -
7|Et BEXFHFA S 721,695,640 54,127,173

AHej ool HR, L2,
=H 7|, RIYRAEHQl B2 ) )

=R Hefjeoigel ME8S5E50[ AAA
EE AA+Ql HR ) ]
1 9ol 8% - -
P 7128 UAEANSH 4,804,809,663 -
EIARE HEEXESH - -
7|EtEH - -
Y ME - -
CHEXH 2 - -

3. R AGUXEAH D(A=Aa+(Abs+Acs) * 50%)

1,964,755,749




